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Løsning Opgave 2

Spørgsmål 2.1 (ca. 5 %)

Samarbejdsdiagram:
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0

samletForbrug:=beregnSamletForbrug

:MAALER

1*[for hver maaler]

m:=hentMaaler

m:MAALER

2*[for hver maaler]

forbrug:=beregnForbrug

:AFLAES

NING

2.1

a:=hentSidsteAflaesning

a:AFLAES

NING

2.4

maalerstand:=

hentMaalerstand

2

samletForbrug =

summen af  forbrug

forbrug = målerstand-

sidsteaflæsning -

målerstand-

næstsidsteaflæsning

hvis ingen aflæsninger:

forbrug = 0

:AFLAES

NING

2.3

a:=hentNaest

SidsteAflaesning

a:AFLAES

NING

2.2

maalerstand:=

hentMaalerstand


Spørgsmål 2.2 (ca. 10 %)

Samarbejdsdiagram:
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0

registrerMaaleraflaesning (maalernr,

dato, maalerstand, bemaerkning)

:MAALER

1

m:=findMaaler(maalernr)

m:MAALER

2

registrerAflaesning

(dato, maalerstand, bemaerkning)

:AFLAES

NING

2.2

tilfoejAflaesning(a)

a:AFLAES

NING

2.1

a:=create(dato,

maalerstand, bemaerkning)
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